FM: SXEH

Hm: QX M =
cel: HE =XEFE X

X2g 2= (MBS X/ AE S X8t
P

SN EE - SR(3A) - MEAY - BES 0l &k o b Bl B2
SXE ™ 892,501,098 794,451,320 98,049,778
= 529,903,766
s 9,862,000
| 730,910
= 352,004,422
QX SAQ SXIIg 2HF(MISX/AE =X L8 9,504,291 13,280,916 AN3,776,625
= 4,820,476
& 4,683,815
dx =X&gd =4 8,550,797 12,245,095 A 3,694,298
= 4,596,000
= 3,954,797
AMBIEX ZHIPE =& 463,057 364,555 98,502
201 L2 Ey| 21,300 26,100 A 4,800
01 At 22l bl 21,300 26,100 A 4,800
OMIA=SXNBAMI LML o3 29 2,100
OMIEERAAE 29 4,100
OA=XIAE EIt 7,000
OASI =X A O 8,100
202 o4l 13,500 13,500 0
01 =LA Bl 13,500 13,500 0
OAMEISX Al Ofe 13,500
203 YR =&Y| 40,000 40,000 0
03 Al =& A 2= Y| 40,000 40,000 0
OMEBIEX SEAM =& 40,000
307 glz2tol & 322,057 221,847 100,210
05 Bl & = 112,737 114,527 21,790
OZRAZ Az =X A2 91,462
OZ3T M=z JsES 21,275
1AL SXAIEE X 209,320 107,320 102,000
OMNB=XA E0s XA 60,000
OZ3AE AMASXNSAMA AT JEEH 24 60,000
OZJAZ A3 =XIALLHE XI& 4,480
OEH? At2I=SXIJI2 SAXN HLHME=E 84,840
308 XXM SOl 66,200 63,108 3,092
01 HXESHBILEXS 66,200 63,108 3,092
OANZ A SXI2 SAA HRML=E 36,000
OMaEXLE 5 KA 30,200
MNIELHE XS (HEAY) 9,630 9,370,740 A9,361,110
301 LB E = 9,630 9,630 0
B AI=ERRABLS 9,630 9,630 0
OANS =23 B (HE) 7,662
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A

M 2% SHO SXIIE AF(MSISX/AISI =X LBt
Cel: MW =X 8 EA (ctel:m el
SN BB S (SA) - MM - BES Ofl &b b Bl REZ
OMI=R2E SAH| 1,968
ANSIBEEER XAAE (=1D) 600,000 600,000 0
= 300,000
= 300,000
308 AUXIEHSOIA 600,000 600,000 0
= 300,000
= 300,000
01 HXESHILAEEXS 600,000 600,000 0
OMzE2E SE82Y XI& 600,000
= 300,000
< 300,000
ZAZ ASIMEIAE 2Z(21) 1,922,000 1,909,800 12,200
= 961,000
= 961,000
306 =93 1,922,000 1,909,800 12,200
= 961,000
& 961,000
01 &3 1,922,000 1,909,800 12,200
OZ3& ASIMHIAA 29 1,922,000
= 961,000
= 961,000
D29 MEX Y NEAG(=1) 5,556,110 0 5,556,110
= 3,335,000
< 2,221,110
308 XXM SO0l & 5,556,110 0 5,556,110
= 3,335,000
& 2,221,110
01 HXESHILEXS 5,556,110 0 5,556,110
ODTLHY9 & HelXt MEXALE X 5,556,110
= 3,335,000
= 2,221,110
EXNANE s 2GXA 953,494 1,035,821 AB2,327
= 224,476
& 729,018
MEIEXAE 29 =& 632,815 640,611 ANT,796
307 glz2tol & 189,528 181,440 8,088
1AM SRANAMEEE 189,528 181,440 8,088
OLH=? ASISXAIE SAX =X=& 189,528
308 UXIEHSOIA 443,287 459,171 A 15,884
O1 X SHBHEEXS 443,287 459,171 A 15,884
OANZ ASISXAE SAR =X+ 395,040
OM2H A DAL XA 15,720
OMEBIEXIAE SAX doll2E Jtd X 32,527
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SN =XHHD
Hu: 42K B4 X PE(MSZX/AS=T L)
B9 SXAS S5 SN (&9 &8)
% 5 15|
M -Z3H-4A(3A) - NREAY - BES Ofl &F o a&% Hws2
MEIZXAE SAK DAQE N(2D)(HE) 320,679 395,210 ~T74,531
= 224,476
= 96,203
308 XHXI £ H SOl & 320,679 395,210 ~T74,531
= 224,476
= 96,203
11 2012 S 0ll OF 8 2 & X 9l EF AL H 320,679 395,210 ~T74,531
OMBIZSKIAIL SAX M X 320,679
= 224,476
= 96,203
BENYTIM BHH(MIZN/2E) 5,665,563 5,025,673 639,890
SELYANY X2 5,665,563 5,025,673 639,890
PECH Y ¥ BEANY FX 5,665,563 5,025,673 639,890
201 Y2 Y| 8,910 10,080 A1,170
01 A2 22l | 8,910 10,080 A1,170
OB 24 2= 4,410
OYAYSI} HYMY 4,500
307 212+0| ® 774,613 755,093 19,520
03 Y S A X 244,000 244,000 0
ozzci 2l X 244,000
10 MBI SRAZEE 2SS 2 X 55,200 55,200 0
0% 2EI 2% X 55,200
11 AEISAI R E 475,413 455,893 19,520
OX0IZY AEWE ¥ 24 X 95,393
OREINE AZHAN K& 40,000
ONAS ZUNIIN M2XE 34,860
ORECH ZAHES X 223,000
0% HEUNES 2435 X 4,500
O=INRBN ZHAN K& 77,660
308 XXl EHHI S 01 & 4,706,440 3,823,500 882,940
P EREES 4,706,440 3,823,500 882,940
©6- 25 JIE# AL XI & 18,000
OSERBN - R= 2A=H X 14,700
OSYREBN DX AUB & X 3,000
OYAE YUY N 3,230,740
OLAE BEYH2Y X 1,440,000
402 QI XHZ 01 & 35,600 337,000 A 301,400
NEEENEEESS D 35,600 337,000 ~301,400
OLEE FAMILSERE Js2Y 35,600
403 RXSHSRZ0IH 140,000 100,000 40,000
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A

SN E-E
Y BEMYYY FHSH(AEZX/2E)
Sl BEMYAY MY (e @
2 = 4
A IS (B - HRAY - BAS 0l &k o e SmEET
01 XX EHH A2 2= 140,000 100,000 40,000
OMERoE 2 Js2Y 50,000
O=E&HH JIseEd 65,000
oOsges JEAY X 25,000
S ZMEBIT(AMS SR/ I =HEEE) 232,140,972 211,734,141 20,406,831
= 209,376,050
= 22,764,922
NAss N HFH=X 28 232,140,972 211,734,141 20,406,831
= 209,376,050
= 22,764,922
Nass SEXNE 211,200 211,200 0
201 B2l 4,000 4,000 0
01 At 2tel ] 4,000 4,000 0
IEMBEHAY =X 4,000
202 4l 7,200 7,200 0
01 SO I 7,200 7,200 0
OJI=dE22ZAY =4 7,200
308 XFXIEHHSOIE 200,000 200,000 0
01 HXHHBLEXS 200,000 200,000 0
Oxtatel 2A=X& 200,000
2=2=X XN (=2) 6,217,050 5,755,050 462,000
= 5,921,000
S 296,050
308 AXEHSOIA 6,217,050 5,755,050 462,000
= 5,921,000
S 296,050
01 HXESHHBILAEXS 6,217,050 5,755,050 462,000
ozs=X XA 6,217,050
= 5,921,000
= 296,050
=0 5 SXIXN(=s20AME JIsEY)(22) 121,575 4,648,594 N4,527,019
= 81,050
= 40,525
403 AXIEHHSXH=0l & 121,575 4,648,594 N4,527,019
= 81,050
= 40,525
01 XM= Ex 121,575 4,648,594 A4,527,019
OL=2AA Js22 XA 121,575
= 81,050
= 40,525
=0 SXANE SML 1S 2,700 2,700 0
307 21201 A 2,700 2,700 0

- 476 -




M SXE M
XM 20| EM
o Tt —

= & ASISX /=M S F)
oSl HASS N HOH=X A EER-E
. 4
SN EAEA) - MEAY - BES 0l &k o e SmEET
11T A SAAEEX 2,700 2,700 0
OL=0 SXNAE BSAXR 1= 2,700
MASH X (=2) 220,564,000 196,487,200 24,076,800
= 201,932,000
= 18,632,000
308 AUXIEHSOIA 220,564,000 196,487,200 24,076,800
= 201,932,000
= 18,632,000
01 HXESHBILAEXS 220,564,000 196,487,200 24,076,800
OMASN 220,564,000
= 201,932,000
< 18,632,000
nE=0 XA 327,537 247,388 80, 149
308 X EHSOIA 327,537 247,388 80, 149
08 WEIIZ0USE X 327,537 247,388 80, 149
Ouss0 327,537
HMZBHSH X2 (=2) 1,552,910 1,535,300 17,610
= 1,442,000
< 110,910
308 MHXIEHH SO 1,552,910 1,535,300 17,610
= 1,442,000
< 110,910
01 HXESHILEXS 1,552,910 1,535,300 17,610
O EHM=SN 1,552,910
= 1,442,000
= 110,910
=0 S SXNXNA(=5UAE 2F ) (HSAS 3,144,000 0 3,144,000
)
308 MHAIHHSOIH 3,144,000 0 3,144,000
01 HXHHILEXS 3,144,000 0 3,144,000
OL=0Ald 28 X (HE) 3,144,000
NA=2TMYE 75 L A (MIA=R/AIE 2R LB 54,207,746 48,599, 462 5,608,284
= 40,493,195
s 9,862,000
= 3,852,551
NESRANAMEA AN L 4 1,162,807 976,426 186,381
NA=XALE J1gh =4 1,032,129 851,626 180,503
201 g2l 11,620 15,190 A3,570
01 At 22l tl 11,620 15,190 A 3,570
OA2 SSHEAE =& 3,290
OISR HAY =& 8,330
202 o4l 5,000 8,000 23,000
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SN =XEHY
Ha: NASXAMY 75 L A (MSZX/ASSHL)
ool MA=SAAMHIA o1

U o (el &
SA-ZFH-SA(AH) - MRANY - BES Off &F 4 ﬁlgi Hus2

01 2 LAY 5,000 8,000 A 3,000
O3 L=XNXNIFAMY = 5,000

307 glztol o 430,629 388,436 42,193

10 MISAANLEE2SHES 374,629 334,936 39,693
OZE A =XNE2s 24 203,629
FAZTCW 2H 171,000

M ASIMGEEX 56,000 53,500 2,500
OZd MNI=Iss2=3 29 52,000
OSEAME =2 SAL d23 s 4,000

308 AHXIEHMSOI ™ 416,880 340,000 76,880

01 HXHHMB&EES 416,880 340,000 76,880
OAlZ MI=EXES 29 261,000
OZ=0tx 2 25,000
OXSA2ZZEAN &35t 110,880
OSEgMasX2 2208 29 K& 20,000

403 A SHHS K201 A 168,000 100,000 68,000

01 XX EHH A2 2= 168,000 100,000 68,000
OTEMI=EXZ JIsEZ 133,000
OAZ NSMIEZEAM JIs2Z 10,000
oOxFtY3 JIs:2d 25,000

ABIBERIAME =8 130,678 124,800 5,878

307 @iztol A 130,678 124,800 5,878

MASIMEEX 130,678 0 130,678
OZAZ A SHEZHE 29 130,678

SAAMBIA BEMA L35 2,713,140 2,749,790 236,650
= 2,713,140

Az SEAtdzel X (22) 135,000 135,000 0
= 135,000

308 AFXIEHM SOl & 135,000 135,000 0
= 135,000

01 HXHHBA4EES 135,000 135,000 0
OANZ+ SEAtd2el X& 135,000
= 135,000

SteE A58 SEMHA XJ(21) 1,099,560 1,099,560 0
= 1,099,560

308 XXl EHM SOl & 1,099,560 1,099,560 0
= 1,099,560

01 HXHHBAEES 1,099,560 1,099,560 0
OsHs %= SEAMEIA N2 1,099,560
= 1,099,560
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FM: SXEH

o NASAAY BE L A (ASSX/AMSSHLE)
SHelr =SXAHIA ML B CEREE]
M -Z3H-4A(3A) - NREAY - BES Ofl &F o ﬁlgi Hws2

Se AR BRIA Q20 XNB(2D) 966,180 952,830 13,350
2 966, 180

308 XX SHH S0/ 966,180 952,830 13,350
2 966,180

01 HXSHBL LTS 966,180 952,830 13,350
OSE A BRIA Q2] X 966,180
2 966,180

SASTHLHI 23 AYAY(2D) 500,000 500,000 0
2 500,000

308 XHXI €M S0l H 500,000 500,000 0
2 500,000

01 HXSHILERS 500,000 500,000 0
OFASXHLHH 23 AHAY 500,000
2 500,000

NeiAsl 2ol 28 245 N (2D) 10,000 10,000 0
2 10,000

307 ©12H0| & 10,000 10,000 0
2 10,000

11 AE =S XA 2 X 10,000 10,000 0
ONAASIBHBAN 255 X2 10,000
2 10,000

HEAHLOIN 29 (22) 2,400 2,400 0
2 2,400

308 XX SHH S0l 2,400 2,400 0
2 2,400

B EYEREES 2,400 2,400 0
OBEATHIOIN 2% 2,400
2 2,400

MBI A BISH ALY S7 10,750,967 1,290,670 539,703
2 89,025
2 9,862,000
= 799,942

NGRS MBMHA ETAY(ZE)(2D)(RY) 395,000 396,000 A1,000
2 276,500
= 118,500

202 01t 5,000 6,000 A1,000
2 3,500
= 1,500

I =LK o1 bl 5,000 6,000 A1,000
OXAABI I ASTIAIR ZX 5,000
2 3,500
= 1,500

308 XX M S0l 390,000 390,000 0
2 273,000

- 479 -




SN =XEHY
Ha: NASXAMY 75 L A (MSZX/ASSHL)

SHlr ABIMHIA HBISH At E=E (crel M
5 5 4\
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
= 777,000
11 2012 S 0ll 0F 3t 2 & = 9l AL H 390,000 390,000 0
OLATXAMINHANAE 2 390,000
z 273,000
= 117,000
NAXEE MSIMEIA SEXAY(EX)(2D) 10,228,767 10,768,850 540,083
7 9,585,500
= 643,267
308 XHXI € X SOl & 10,228,767 10,768,850 540,083
7 9,585,500
= 643,267
01 HXSHBARES 10,228,767 10,768,850 540,083
OXIHASI MEIASRALY X & 8,511,640
7 7,884,600
< 627,040
OJtAZY 22 X 1,455,000
=) 1,455,000
OXHASI M ASRAIY 2 X8 39,900
z 39,900
OFHNSAY AY X8 222,227
z 206,000
= 16,227
NAKEE MSIMEIA SXAY 2 X2 2Y (2D 127,200 125,820 1,380
)
= 89,025
= 38,175
307 @I2t0I ™ 127,200 125,820 1,380
= 89,025
< 38,175
02 BI2HZ A A QI 2 X 127,200 125,820 1,380
OXHASIMEIA BEAYAE 2 127,200
= 89,025
= 38,175
2e2 MY e 39,580,832 33,582,576 5,998,256
= 37,691,030
= 1,889,802
e Y NASX ST FX 58,085 22,500 35,585
308 XX EHASOIA 40,585 0 40,585
P ER RS 40,585 0 40,585
OXHE AL ZRIA Z=0F Y 40,585
403 XX SHH S K20l H 17,500 0 17,500
01 XEXISHAI X2 2 = 17,500 0 17,500
OXNSAMEHE JS2Y AL 17,500
NE22, NANEHEH L ZARSLAHSY (2 D) 31,232,268 29,026,113 2,206, 155
= 29,579,218




FM: SXEH

Hu: NASAAY 75 L S (MI=X/AS =T L)
Sel: 22 XY NHE X (ctel: @
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
= 653,050
308 XX & X SOl & 31,232,268 29,026,113 2,206, 155
=2 29,579,218
= 1,653,050
P ER RS 31,232,268 29,026,113 2,206, 155
OXE2E X 31,232,268
= 29,579,218
< 1,653,050
NAREAEH 2% (21) 3,899,318 0 3,899,318
= 3,899,318
308 XHXI & X SOl & 3,899,318 0 3,899,318
= 3,899,318
01 HXEHAAEES 3,899,318 0 3,899,318
ONANEHE 2 3,899,318
= 3,899,318
NE22, NAMSHE L ZANVSUHES(ID)( 595,557 534,086 61,471
5E)
= 416,890
= 178,667
308 X+l EFH S 0| & 595,557 534,086 61,471
=2 416,890
= 178,667
11 B 2HS0I 082 & = 2 & At t 595,557 534,086 61,471
OZANEHEH 2 595,557
= 416,890
= 178,667
THE At 22l (2 D) 61,452 60,877 575
= 61,452
308 Xt & H S OI & 61,452 60,877 575
= 61,452
01 HXEHBAEES 61,452 60,877 575
O XHE At 22l 61,452
=2 61,452
22sYELBHALSSNE (2 D) 3,734,152 3,939,000 204,848
=2 3,734,152
308 XX EFH S OI & 3,734,152 3,939,000 £204,848
= 3,734,152
01 HXEHBAEE 3,734,152 3,939,000 204,848
08YISSE 1 N 293,704
= 293,704
08YISER 2 N 429,819
=2 429,819
OULISEH N 265,392
= 265,392
OFHIYISER X 187,027
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A

SXE 3

M NASAAY PH L A (MIASX/AE =T L
ool 2R XY - I X (ee:@e
5 s SiE|
SA-EZH-SA(BAH) - NRAY - BHES Ol &k 4 agﬁ Hlns2

= 187,027

OFEANEANZ N 1,226,876

2 1,226,876

OSIYH=AZ 1 X 261,425

=2 261,425

OBIYNEANZ 2 X 162,235

=2 162,235

OFEUWLNSHE-XA 0I5 X2 117,934

2 117,934

OFHULMEHH-IAAZD N 789,740

2 789,740
ES 0ls N (MISX/E2S - IEL04) 302,222,239 298,904,879 3,317,360

2 174,886,635

& 127,335,604
2 MHlA 23 302,222,239 298,904,879 3,317,360

2 174,886,635

& 127,335,604
2AY & 10,800 10,800 0
201 et g 5,400 5,400 0
01 At 22/l 5,400 5,400 0

OESHUAAS 29 5,400
202 Of 4 5,400 5,400 0
01 20t bl 5,400 5,400 0

OES|ANY =& 5,400
E8E 2293 N 1,210,728 1,210,728 0
308 XX €A S 0 & 1,210,728 1,210,728 0
01 MXSHBAEXS 1,210,728 1,210,728 0

OE8Z 222g32 S X 1,210,728
ZTHOOIE N (HeAY) 4,185,635 0 4,185,635
308 XXl €A S0l & 4,185,635 0 4,185,635
01 MXSHBaEES 4,185,635 0 4,185,635

OZZHOR0IE XA () 4,185,635
SOISENAME 29 N 84,600 84,000 600
308 XX EHAIS Ol & 75,600 84,000 8,400
01 MHXSHMBAEES 75,600 84,000 8,400

OANZ SOIEENAMEH 29 N 75,600
402 It T2 0 A 9,000 0 9,000
01 LT SA2E (XA M) 9,000 0 9,000

O% SOISEXNMH JIs2Y X 9,000
SOIZEENAHE 2% (M) 632,907 0 632,907
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FM: SXEH
3y B8] 0t NA(MISKN/ES - HSL0HY)
el B MHIA 235t (el &3

% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
307 glz2tol & 587,907 0 587,907
10 ALEI S XAIEEE2IHIEX 587,907 0 587,907
O SIS HH 8 XA (HE) 587,907
308 AUHXIEHSOIA 45,000 0 45,000
01 HXESHILAEEXS 45,000 0 45,000
OANT SOSEXIAMH L= KNI (HE) 45,000
Helold e BEx=s(=1) 86,600 96,000 29,400
= 43,300
= 43,300
307 212+01 A 86,600 96,000 29,400
= 43,300
= 43,300
11 A SAAEEX 86,600 96,000 9,400
ONeold W ExU=s 86,600
= 43,300
= 43,300
ooy gstEdls N3 28,665 40,593 A 11,928
308 AHXEHHSOIA 28,665 40,593 A 11,928
01 HXESHILEXS 28,665 40,593 A 11,928
OMASE Ols gst&EHIS N 28,665
Heloly s2es X 242,000 244,680 A 2,680
308 AXEHSOIA 242,000 244,680 A 2,680
01 HXSHBILAEXS 242,000 244,680 A 2,680
oo0eols s&2ed XA 242,000
Hglold sd3id X (=1) 300,289 422,100 A121,811
= 200,193
= 100,096
403 XSS 201 H 300,289 422,100 A121,811
= 200,193
== 100,096
01 XX A2 = 300,289 422,100 A121,811
ooeolsd &3 300,289
= 200,193
= 100,096
Heols &&5(=21) 2,064,213 1,140,000 924,213
= 1,376,142
= 688,071
403 AXIEHHS X201 & 2,064,213 1,140,000 924,213
= 1,376,142
& 688,071
01 HXEMAEE X 2,064,213 1,140,000 924,213
O=38 a0l &= 2,064,213
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oA =XEHD
& B8 05 N (MIASX/ES - IHFL0Y)
ool B MUA 25 (ctel®
. 4
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
= 1,376,142
= 688,071
Oegold A ML XA 1,242,880 1,086,440 156,440
308 X EHSOIA 1,242,880 1,086,440 156,440
01 AXEHBAEELS 1,242,880 1,086,440 156,440
O0E0ld nAA HRIML X 1,242,880
Helold SALL 824 M 73,000 86,500 A 13,500
307 glz2tol & 73,000 73,000 0
1 ALS SXAISEE X 73,000 73,000 0
O0gold ESZ2 M AL4E & Wx X 73,000
dotERE XA (=21) 108,959,666 109,919,395 A 959,729
= 87,793,000
= 21,166,666
308 XXM SO0 & 108,959,666 109,919,395 A 959,729
= 87,793,000
= 21,166,666
01 HXESHBILEXS 108,959,666 109,919,395 A 959,729
ogsotEsz K& 108,959,666
= 87,793,000
< 21,166,666
NZHESAHEBIA H3XA(=21) 965,325 991,860 A 26,535
= 726,000
& 239,325
307 21201 A 61,500 55,600 5,900
= 30,750
& 30,750
10 M SRNANEHEZ2IHES 61,500 55,600 5,900
OAZIH ESAMEIA HMSXIE(22012) 61,500
= 30,750
= 30,750
308 XXM SO0l & 903,825 923,260 A 19,435
= 695,250
< 208,575
01 IXEHBAEEEXS 903,825 923,260 A 19,435
OANZtH E=MEIA HMSX& 903,825
= 695,250
= 208,575
S 285 A 60,875,640 62,925,075 A2,049,435
308 XXl &t S0 A 60,875,640 62,925,075 A 2,049,435
01 HXESHBLAEXS 60,875,640 62,925,075 A 2,049,435
Oxcld 282 N& 60,875,640
ygdsLd NA(=1) 16,682,047 25,401,961 28,719,914
= 13,420,000
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FA:

X ZH -
S =

Chel: (cH &
5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2

= 3,262,047

308 XX EHMSO0IA 16,682,047 25,401,961 N8,719,914
= 13,420,000
= 3,262,047

01 AIXSHMABAAEXZ 16,682,047 25,401,961 N8,719,914
O A= X 16,682,047
= 13,420,000
= 3,262,047

Horag NR(21) 13,143,703 0 13,143,703
= 10,569,000
== 2,574,703

308 XX EMSO0IA 13, 143,703 0 13, 143,703
= 10,569,000
== 2,574,703

01 AIXSHMABAABEEXZ 13, 143,703 0 13, 143,703
O gotx=% X& 13,143,703
= 10,569,000
= 2,574,703

HZO0oF t: B2 2,600 2,600 0

308 XHXIEMSO0IA 2,600 2,600 0

01 RXESHBARES 2,600 2,600 0
Ogdbols glE B 2,600

22 DLHES 2K (=2D) 38,990 44,200 N5,210
= 30,000
= 8,990

308 AHXI XIS 0| & 38,990 44,200 £5,210
= 30,000
= 8,990

01 AIXSHMMABAAEXZ 38,990 44 200 N5,210
O82 2LUHEH &9 X 38,990
= 30,000
= 8,990

BA2 olAH X&(=21D) 55,315,053 54,978,038 337,015
= 37,384,000
== 17,931,053

308 Xt Xl &M S0l &® 55,315,053 54,978,038 337,015
= 37,384,000
== 17,931,053

01 AIXSHMABAABEEXZ 55,315,053 54,978,038 337,015
OoOBsn&3 o1AHHl X 55,315,053
= 37,384,000
== 17,931,053

2SDAY HLML N (D) 32,998,278 31,717,129 1,281,149
= 22,366,000
= 10,632,278
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A
X XH -
(=

S

5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
307 2I2t01 A 53,418 86,776 A 33,358
= 26,709
= 26,709
11T A EXAIE E X 53,418 86,776 A 33,358
O ol HH WA XI& 53,418
= 26,709
== 26,709
308 NXIEMSOA 32,944,860 31,630,353 1,314,507
= 22,339,291
c 10,605,569
01 AIXSHMABAABEEXZS 32,944,860 31,630,353 1,314,507
OEEnNAI HMS X 32,944,860
= 22,339,291
= 10,605,569
o2lold XK (=21) 1,450,614 1,473,551 N 22,937
= 979,000
= 471,614
308 XX SHHMSO0IA 1,450,614 1,473,551 A 22,937
= 979,000
= 471,614
01 AIXHMMBAEXZ 1,450,614 1,473,551 N 22,937
O ol X 1,450,614
= 979,000
c 471,614
oelold 2xoa 2dxel K& 1,271,160 1,147,200 123,960
308 AHXISHMSOI A 1,271,160 1,147,200 123,960
01 AIXSHMBAAEXZ 1,271,160 1,147,200 123,960
oO0golE Bxea 2Axte XH 1,271,160
B NHA & &4& X2 287,000 330,385 N 43,385
308 AXIEMSOA 38,000 15,000 23,000
01 AIXSHHMABAABEEXZS 38,000 15,000 23,000
OBsnd3d 22s4A XA 25,000
OHEHM2H MES XS 13,000
403 XX SHHS K201 ™ 249,000 315,385 N 66,385
01 AIXSHMA=2E X 249,000 315,385 A 66,385
O0elold stdIA XA 249,000
O12I01T HEBA ALY X2 34,086 0 34,086
308 XX EMSO0l& 34,086 0 34,086
01 AIXSHHMBAABEEXZS 34,086 0 34,086
O0el ol ot 2 S I 34,086
HEXE ARS 20IE Q1A X 35,760 0 35,760
308 XHXIEMSO0A 35,760 0 35,760
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SN =XEHY
Y 2% 05 NA(MIASN/2] - HEL0HA)
ool BEAHIA Y3 (cHol: &8
. SIE]
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
IR ERCES] 35,760 0 35,760
OFEXY A7 0IF QY S XL 35,760
EMHHE BEZL(NBZT/2S - HEL04) 234,315,815 165,474,476 68,841,339
= 100,327,410
p] 730,910
= 133,257,495
OFS =M A X2 219,117,266 163, 177,474 55,939,792
= 87,431,727
p] 730,910
= 130,954,629
250t AASA 2,940 14,200 A11,260
201 L2yl 2,940 4,200 A1,260
01 Ak 2reltl 2,940 4,200 A1,260
ONSSXBY N5 29 2,940
OE=TIIZ 29 552,371 465,000 87,371
307 QI2H0| & 446,931 410,000 36,931
EEE N EEEEETEES 446,931 410,000 36,931
OOESTIEXRAL 29 446,931
308 XHXI € %I S 0l & 89,440 55,000 34,440
01 RXSHBARES 89,440 55,000 34,440
ONEE AH = N 89,440
403 XX S S THE 0l ® 16,000 0 16,000
01 REXISHH X2 2 = 16,000 0 16,000
O1EE JIs2Y N 16,000
otssS4a XA 887,800 721,395 166,405
202 01 bl 5,100 5,100 0
01 24 04 bl 5,100 5,100 0
OOSZAANY =X 5,100
308 XHXI € XS0l & 882,700 716,295 166,405
0l RS HMBAHRES 882,700 716,295 166,405
OYNE OIS A 882,700
25015 MEBOH X8 279,270 398,962 A 119,692
308 XX €4l S 0l & 279,270 398,962 A 119,692
PN ERCES] 279,270 398,962 A 119,692
OS50S MEHY X 279,270
TeiotSME 228 X (21D) 8,348,904 7,970,760 378, 144
= 6,957,420
= 1,391,484
308 XHXI € XIS 0l & 8,348,904 7,970,760 378, 144
= 6,957,420
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oA =XEHD
HH: SUEHSH SHAXTH(MIEX/ES - HELHE
el ots=ERMEA K& (ctel &
2 5 4 14
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
S 1,391,484
01 AXEHBLEEES 8,348,904 7,970,760 378,144
OoXgotsdE 298 XA 8,348,904
= 6,957,420
= 1,391,484
ANEotsdH S48 It NJ(=212) 270,000 293,393 A 23,393
= 225,000
= 45,000
308 AUXIEHSOIA 270,000 293,393 A 23,393
= 225,000
= 45,000
01 HXESHBILAEXS 270,000 293,393 A 23,393
OXN0otsHdH E4E FIt X& 270,000
= 225,000
= 45,000
OrS=EX WA XN (=1) 2,003,353 1,950,379 52,974
2 1,669,461
< 333,892
308 XAXIEM SO0l & 2,003,353 1,950,379 52,974
= 1,669,461
& 333,892
01 AXEHBAEES 2,003,353 1,950,379 52,974
OXSO0tsHE Ots=X A XI& 2,003,353
= 1,669,461
= 333,892
ANEotsHdH NS 2F(=21) 175,000 175,000 0
= 52,424
= 122,576
307 glz2tol & 175,000 175,000 0
= 52,424
< 122,576
10 ALSI S XAIEHE 22X 175,000 175,000 0
OXYotsHH XY 249 175,000
= 52,424
& 122,576
ANYotsdH S#FHd NA(=2) 162,000 210,000 A 48,000
= 135,000
= 27,000
403 RAtXISHMS K201 A 162,000 210,000 A 48,000
= 135,000
= 27,000
01 AtXICHM X282 162,000 210,000 A 48,000
OXL0otsHEH SFMA XI& 162,000
= 135,000
< 27,000
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SN 2XHMD

HHM: SNEGH BAZIL(MIASX/ES - HEL0HY)

S OFS=EXAHIA X (&2
EH -3 -A(3H) - AEAMY - BES Oil AF OH ggi Hws2Z
XNSEOISHE 29X 1,561,648 857,980 703,668

308 XXM SOI™ 1,297,448 769,180 528,268
01 X SHHBAEEZ 1,297,448 769,180 528,268
OXSOtSHE A X 72,450
OXYAOISHE 29 =JI AL 72,676
OXIAOISHE Q2AHl FIt X 1,142,322
O AtHl X 10,000
403 XtXISH S X201 & 264,200 88,800 175,400
01 XtXISHM A EE X 264,200 88,800 175,400
OXNAOISHEH JIsE2d X 264,200
XNHOISHE SAXN NS 7,600 0 7,600
307 2I2t01 & 7,600 0 7,600
A EX AL E X 7,600 0 7,600
OXNGOISHE AR B 7,600
OIEES MY 29 XY (=1) 1,219,824 527,586 692,238
= 1,134,720
[ 85,104
308 AHXI SR SO0l & 1,219,824 527,586 692,238
= 1,134,720
[ 85,104
01 X SHHBAEEZ 1,219,824 527,586 692,238
Q0lEE35 AR 29 X 1,219,824
= 1,134,720
< 85,104
OFSESZA SHE &Yl SAIXA(2D) 90,000 0 90,000
= 90,000
403 XSS 20| & 90,000 0 90,000
= 90,000
01 XIXISHM X2 X 90,000 0 90,000
OOISSIHZA SHE ZHl SHAIXE 90,000
= 90,000
LA0ls AdFs+Y NI (=1) 652,536 727,997 NT5,461
7l 601,020
[ 51,516
308 XXM SOI™ 652,536 727,997 AT5,461
7l 601,020
< 51,516
01 AR SHHBAEEZ 652,536 727,997 AT5,461
0OYANES YE4+Y XA 652,536
7l 601,020
[= 51,516
Qlot=pid|2t 2X X (=21) 1,064 532 532
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SH =X
HH: SUEHSH SHAXTH(MIEX/ES - HELHE
chelr Ots=EXAMHA X (et
2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
Jl 980
= 84
308 A EHSOIA 1,064 532 532
J| 980
= 84
01 HXSHBILAEXS 1,064 532 532
oY= 21 X2 1,064
J| 980
= 84
gdHE N (21) 25,410 30,248 AN 4,838
J| 23,410
= 2,000
308 AUXIEHSOIA 25,410 30,248 A 4,838
J| 23,410
= 2,000
01 X SHBHEXS 25,410 30,248 A 4,838
ogdbls XA 25,410
J| 23,410
< 2,000
Zoots dLL=E2XZ(=1) 77,884 77,246 638
J| 71,740
& 6,144
308 XFXIEHHI SOl ™ 77,884 77,246 638
J| 71,740
& 6,144
01 HXHHILEXS 77,884 77,246 638
OOt Y23 XA 77,884
J| 71,740
= 6,144
A0tz HE N 22,500 30,100 AT,600
307 glz2tol & 7,000 7,000 0
11T A SRS EE 7,000 7,000 0
oYy JIgA 7,000
308 AUXIEHSOIA 15,500 23,100 AT7,600
O1 AIXSHBHEXS 15,500 23,100 27,600
ogd=dtza XA 15,500
LES0S 088 2ZANA(=12) 1,008,777 880,930 127,847
= 775,981
& 232,796
308 XHXIEHHI SOl A 1,008,777 880,930 127,847
= 775,981
& 232,796
01 HXEHHILEXS 1,008,777 880,930 127,847
oORESN=s 088 22 XA 1,008,777
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SH =X
Hz: SARGE SAXIH(MIEX/ES - IIELHAY
el Ol =XIAHIA TR EER-E
. 4
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
= 775,981
= 232,796
IIEAEOS AHEE2 XK (=2D) 64,733 64,733 0
= 45,313
= 19,420
307 2I2t01 & 64,733 64,733 0
= 45,313
= 19,420
06 282 64,733 64,733 0
oMdllE2E = XN& 64,733
2 45,313
== 19,420
ogr - JIHPISOE MRlXB KA (2D) 26,752 25,080 1,672
= 24,640
o 2,112
308 XX EHMSO0IA 26,752 25,080 1,672
= 24,640
o 2,112
01 AIXSHHMABAAEEXZ 26,752 25,080 1,672
O - IIHLAEOES Aelxl=Hl K& 26,752
= 24,640
= 2,112
H20ts 25H XNEE(=21D) 90,000 0 90,000
2 63,000
= 27,000
308 XHXIEMSO0I& 90,000 0 90,000
2 63,000
== 27,000
01 XS HIEABEXS 90,000 0 90,000
Hd20lEs B4l A 90,000
=2 63,000
= 27,000
OlSE2E R2H XNH(=21) 10,000 0 10,000
2 7,000
= 3,000
308 AXIEMSOHA 10,000 0 10,000
= 7,000
= 3,000
01 AIXSHMBAAEXZ 10,000 0 10,000
oolsg3 PFLH X& 10,000
= 7,000
== 3,000
OIS YEXAX XA (=2D) 2,721,556 1,211,770 1,509,786
= 2,506,698
== 214,858
308 AXIEMSOA 2,721,556 1,211,770 1,509,786
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oA =XEHD
HH: SUEHSH SHAXTH(MIEX/ES - HELHE
el ots=ERMEA K& (cte: &
= — d L5
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
= 2,506,698
< 214,858
01 AIXNEHBAEEES 2,721,556 1,211,770 1,509,786
ootsLE XA XA 2,721,556
= 2,506,698
= 214,858
OFS=XAIE JIsE22 XNJA(=12) 64,020 270,472 A 206,452
| 33,760
= 30,260
402 QIR 20l A 57,520 120,842 A63,322
| 28,760
= 28,760
02 QIZEXt 2 A S 2= (0 M THE ) 57,520 120,842 A63,322
OOS=EXAE JIsE22(%) 57,520
| 28,760
< 28,760
403 AXIEHMSA=20lA 6,500 149,630 A 143,130
J| 5,000
< 1,500
01 HXEMAEE R 6,500 149,630 A 143,130
OOtsEXALE JIs:E 6,500
| 5,000
= 1,500
OFSLAESAE 2 1,001,272 760,000 241,272
307 glz2tol & 1,001,272 760,000 241,272
10 ALSI S XAIEHE 22X 1,001,272 760,000 241,272
OOtsLANESAE 2Y 1,001,272
OISESA2IN& 24(=1) 4,066,812 3,221,644 845,168
= 2,033,406
= 2,033,406
307 2I2t01 A 4,066,812 3,221,644 845,168
= 2,033,406
= 2,033,406
10 ALSI S XAIEEHE2IGHIEX 4,066,812 3,221,644 845,168
O0tsEsd=2II&a 24 4,066,812
= 2,033,406
< 2,033,406
HE MeXZHEH 28 XA (=12) 149,500 0 149,500
= 74,750
& 74,750
307 glz2tol & 149,500 0 149,500
= 74,750
< 74,750
10 M SRNAEHEI2IHES 149,500 0 149,500
ONE dMeXgdyH 22 149,500
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SH =X
M BNNHE BHFZL(MIASX/ES - IELNA)
el ots=ERMEA K& (ctel &
. 4
SH- B (BAH) - HBEAMY - BES O &k o e Hl R =2
= 74,750
= 74,750
StIOIGHOLS &8 29 (=1) 716,208 516,083 200,125
= 550,926
= 165,282
308 XXM SO0l 716,208 516,083 200,125
= 550,926
= 165,282
01 AXEHBAEES 716,208 516,083 200,125
o=stiulciots&EEH 22 716,208
= 550,926
= 165,282
SR Meoldd gixl(=1) 294,123 0 294,123
= 235,298
& 58,825
307 212+01 ™ 294,123 0 294,123
= 235,298
= 58,825
10 M SRNANEEHEI2IHE=S 294,123 0 294,123
OXE XA Mol Hixl 294,123
= 235,298
= 58,825
TEXE ArgHl X&(=21) 239,736 0 239,736
= 191,789
= 47,947
307 @Iz2t0l & 239,736 0 239,736
= 191,789
= 47,947
10 M SRNANLEEHE2IHEX 239,736 0 239,736
OXE X & At 239,736
= 191,789
= 47,947
OtsE2sdzIN2 28 A& 300,000 0 300,000
307 212+01 & 300,000 0 300,000
10 M SRNAEHEI2IHES 300,000 0 300,000
OOtsEsd=2II& 2Zd =Jt A& 300,000
OtsEsdzI& JIs2d XN& 20,000 0 20,000
403 AXISHMSA201 A 20,000 0 20,000
01 XS EEE 20,000 0 20,000
ONBROISESHEZIIZ JIsE2Y XN 20,000
Z2o0|2 2% 270,000 270,000 0
307 g1z2tol & 270,000 270,000 0
10 M SRNANEEHE2IHES 270,000 270,000 0
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SN =XEHY
Ha: BMASE BAXL(MASN/2S - HEL0Y
Gl OIS =RMEIA N (cHol: &8
2N -3 - (3H) - NHEAMY - BE= Ofl &F o ﬁlgi Hws2
CEEPEEE 270,000
ISR AME 2 705,776 670,000 35,776
307 QI2+0| & 705,776 670,000 35,776
e EEEETEE: 705,776 670,000 35,776
OINFASTAME 2 705,776
SYAEE SBABI(2D) 4,118,609 4,125,636 AT,027
= 3,831,264
= 287,345
308 XHXI € XIS 0l & 4,118,609 4,125,636 AT,027
= 3,831,264
= 287,345
01 RXISHBLRES 4,118,609 4,125,636 AT,027
OOl EBAHIA XY 4,118,609
=2 3,831,264
= 287,345
Os4+g 20 NS(2D) 70,770,729 65,415,300 5,355,429
= 65,011,756
= 5,758,973
308 XX SHH S0/ ™ 70,770,729 65,415,300 5,355,429
= 65,011,756
= 5,758,973
L EREES] 70,770,729 65,415,300 5,355,429
o0sE+g 20 X3 70,770,729
= 65,011,756
= 5,758,973
OlS42 MTA ArHl XR(2D) 7,531 15,800 ~8,269
= 6,671
= 860
308 XX £HH S 0/ 7,531 15,800 A8,269
= 6,671
= 860
N Y EREES 7,531 15,800 £8,269
O0tS4Z XA ArHl X 7,531
= 6,671
= 860
Sol24+g N 114,030,000 68,334,280 45,695,720
308 XHXI € &I S 0l & 114,030,000 68,334,280 45,695,720
01 RXISHBARES 114,030,000 68,334,280 45,695,720
oS0l Lg 114,030,000
Sol24+Y E2X 200,000 0 200,000
201 L2yl 200,000 0 200,000
01 Ak 2tel 200,000 0 200,000
Os0IE+Y E2X 200,000
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oA =XEHD
Hz: SARGE SAXIH(MIEX/ES - IIELHAY
S otsENAMAEA IS (cH A
5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
ESE20s ML IR (=2D) 1,859,760 1,391,040 468,720
= 1,771,200
= 88,560
308 XX SHHMSO0A 1,859,760 1,391,040 468,720
= 1,771,200
= 88,560
01 AIXSHMBAEXZ 1,859,760 1,391,040 468,720
OEsE=20ls g™ N 1,859,760
= 1,771,200
== 88,560
AHAMXNSOS ISR (=21D) 41,268 43,928 A 2,660
= 38,010
°c 3,258
308 XX EHMSO0IA 41,268 43,928 N 2,660
= 38,010
= 3,258
01 AIXSHHMBAABEEXZ 41,268 43,928 A 2,660
OABAHAHNXs0ts NEHAHA 41,268
= 38,010
= 3,258
N HSHEH 15,198,549 2,297,002 12,901,547
= 12,895,683
== 2,302,866
MNESAMUE 89 =8 7,220 7,220 0
201 et A H| 4,500 4,500 0
01 AP 2tel Hl 4,500 4,500 0
OMEBAMUE 2K 4,500
202 04| 2,720 2,720 0
01 2L A bl 2,720 2,720 0
ONMESAHE 2H =X 2,720
ChXEJIE S8 X& 30,000 129,600 A 99,600
308 XX EHMSO0IA 30,000 129,600 A 99,600
01 AIXSHHMABAAEXZ 30,000 129,600 A 99,600
OUXEHIIE EEXS 30,000
MNEsA2E HERIA 43 N 68,600 98,000 A 29,400
307 2Iz2to| A 68,600 98,000 A 29,400
02 QI2HH AMAIY B & 68,600 98,000 A 29,400
OZd MEsi=22 HERKT 43 X& 68,600
MEADEANS Y] 2QQAIJA XK (=21D) 39,496 39,496 0
= 27,647
= 11,849
307 Q120 & 39,496 39,496 0
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A
X XH -
(=

S

Off &F 4

=

P
2H

Moy

27,647
11,849

moH

39,496
39,496

27,647
11,849

M oH

12,778,000

11,196,000
1,582,000

12,778,000

Mo

12,778,000

11,196,000
1,582,000

12,778,000

MW

12,778,000
12,778,000

11,196,000
1,582,000

12,778,000

M A

1,086,194

905, 162
181,032

228,098

M i

1,086,194

905, 162
181,032

228,098

Mo

1,086,194
1,086,194

905, 162
181,032

228,098

Mo

72,720

60,600
12,120

72,720

MW

72,720

60,600
12,120

72,720

M i

72,720
72,720

60,600
12,120

72,720

SR

6,690

5,575
1,115

6,690

Mo

6,690

5,575
1,115

6,690

01 TtXIEHHl &2 &

ottt =

28 X

6,690

6,690

6,690
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oA =XEHD
Hz: SARGE SAXIH(MIEXN/ES - IISLHAY)
CH2l: MSA Sy (cH A
2 5 4 14
M- B2 - o9 (31H) - HEAY - agﬁ 2t
= 5,575
= 1,115
St =348 H A2 HE AIYHALE 900 0 900
(=D)
= 750
== 150
308 XX EM SO0l & 900 0 900
= 750
== 150
01 AIXSHHMABAABEEXZ 900 0 900
OLUEN =s8HEH 2HAI2H =2
AHl XA 900
= 750
= 150
S sS=24dE &XH XN (=2D) 735,000 687,500 47,500
= 630,000
== 105,000
403 XX SHHS K201 ™ 735,000 687,500 47,500
= 630,000
o 105,000
01 AIXSHMAE2E X 735,000 687,500 47,500
OANZ CENHN=sHE &AXd XI& 735,000
= 630,000
= 105,000
SN S84 E SOC =8st AXIHl X ( 25,000 0 25,000
= 25,000
403 IXSHHSK=201H 25,000 0 25,000
= 25,000
01 XIXIS A28 X 25,000 0 25,000
OLIEN == 4dE SOC 283 25,000
= 25,000
et s24EH 2 X (XEESHA 205,800 195,000 10,800
308 AHXISHMSOIH 180,000 180,000 0
01 AIXSHMBAAEXZ 180,000 180,000 0
OXNEESIANYE &Y 180,000
403 XX SHHS K201 ™ 25,800 15,000 10,800
01 AIXSMA=E2EE 25,800 15,000 10,800
OJlsEB2ZAMYE X& 25,800
sStpEgEH olAdH X|(=21) 40,529 90,090 AN 49,561
= 28,949
= 11,580
308 XHXIEMSO0I& 40,529 90,090 AN49,561
= 28,949
== 11,580
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SN ST
Ha: BMAGE BEEL(MIASX/ES - HSL0Y)
Sl HBEM (ST CEREE]
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
B EYEREES 40,529 90,090 249,561
OSLWSEE 22 X 40,529
2 28,949
= 11,580
SNE=EE 296 N (2D) 22,400 0 22,400
2 16,000
= 6,400
308 XHXI €A S0l H 22,400 0 22,400
2 16,000
= 6,400
01 HASHBLRSES 22,400 0 22,400
OB DESEE 2 X 22,400
2 16,000
= 6,400
ZSEE ANEMY X2 80,000 192,000 A 112,000
308 XHXIEHHI SO ™ 80,000 192,000 A 112,000
01 HASHBL LTS 80,000 192,000 A 112,000
OZSEE ANEAY X8 80,000
YHSH AU (SXFRD)(IIEHIIE) 61,070 61,070 0
S[EET] 61,070 61,070 0
Sheg J=ZYl 61,070 61,070 0
201 et Y| 39,602 39,602 0
01 Abe 22l bl 39,602 39,602 0
ORN2Y ARl 39,602
202 01t 9,918 9,918 0
01 2 LHOTHl 9,918 9,918 0
ORMNEY U0t 9,918
203 R = Y| 11,460 11,460 0
01 I 22y REAY| 6,600 6,600 0
0=% 6,600, 0002 6,600
04 RS ARETY| 4,860 4,860 0
©312! ol 4 405,0002! 122 4,860
WS (ST (ASI=X/FHAHENA) 54,383,402 51,370,703 3,012,699
Ui H 2 X1 & 54,383,402 51,370,703 3,012,699
EEY Bl 54,383,402 51,370,703 3,012,699
701 JIEIBI ST ES 54,383,402 51,370,703 3,012,699
01 JIEtEI N EE S 54,383,402 51,370,703 3,012,699
CEEERPEEEEPREE 54,383,402
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20228 = 204 A2 S0HIIS2SSEIIH A

FM: SXEH

M RO ZMBER(MISK/IZHELEE)
Bl 22002 2P (ABZ0ISSYSHIA) (o &
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
SXE = 376,833,000 355,061,000 21,772,000
= 299,063, 127
< 77,769,873
IO ZMESH(ANIAZX/INZMELRE) 376,733,310 354,967,001 21,766,309
= 299,005,837
< 77,727,473
BI0IIZ 2L (ARSHIIZ2HSESH) 376,733,310 354,967,001 21,766,309
= 299,005,837
< 77,727,473
9230 MIHHIA XV (2D) 371,330,772 348,276,595 23,054,177
= 294,508,456
< 76,822,316
201 YEr2 gyl 780,595 780,595 0
= 624,476
< 156, 119
01 Ak 2relt| 780,595 780,595 0
OFIE - MAL2E 780,595
= 624,476
< 156,119
403 XHXI A S X2 0| ® 370,550, 177 347,496,000 23,054, 177
= 293,883,980
= 76,666,197
02 BII 2SOl CHSHKH= & 9| £ AL HI 370,550, 177 347,496,000 23,054,177
o2 e 367,354,905
= 293,883,980
< 73,470,925
OXZH HEHB(ZMALHB) 3,195,272
ABZ0 NANSLHMBARE(SD)(AR) 3,915,317 2,998, 142 917,175
= 3,311,056
= 604,261
308 XXM SOIA 3,915,317 2,998, 142 917,175
= 3,311,056
= 604,261
R ER e 3,915,317 2,998, 142 917,175
oo 24 #3233 94,710
= 80,100
= 14,610
ORUH L HHALZFIII PUX 1,875,520
= 1,586,300
= 289,220
oo 2o P43 117,340
= 99,185
= 18,155
OAYMB RN L] 1,193,859
= 1,009,791
= 184,068
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FM: SXEH

Ho: R0 ZMBEF(AS =N/ ZNERE)
S9l: AR200I2 2Y (U230 2YSLE5) CEREE]
% 5 15|
2N -3 - (3H) - NHEAMY - BE= Ofl &F o a&% Hws2
CRBIEEEENE 633,888
2 535,680
= 98,208
J2I0YS FF (1) 205,784 205,069 715
2 104,888
= 100,896
201 Yut2 F Y| 10,000 9,285 715
01 At 22l bl 6,000 5,500 500
02230 YUY 6,000
03 & At2 2 bl 4,000 3,785 215
CEEENE T e 4,000
202 01t 12,230 12,230 0
01 2LHOIHI 12,230 12,230 0
CEEEIEIES 12,230
308 XX SHH SO0l 183,554 183,554 0
2 104,888
= 78,666
IR ENEREES 183,554 183,554 0
CET-E-FIIbE 183,554
2 104,888
= 78,666
20224 At 2RI HEHH HE (D) (AZ) 1,081,437 896,476 184,961
2 1,081,437
308 XHXIEHHI SO0l ™ 1,081,437 896,476 184,961
= 1,081,437
01 HXSHB AR TS 1,081,437 896,476 184,961
CEEEICEEP= 1,081,437
2 1,081,437
o230 Aelzel 200,000 0 200,000
201 Yur2 F Y| 20,000 0 20,000
01 AL 22l bl 20,000 0 20,000
OMIHARZ UMY 2Y 20,000
308 XXM SO0 90,000 0 90,000
B EEE 90,000 0 90,000
OMIABZOIAY 2l X 90,000
403 XIS H S T2 0| H 90,000 0 90,000
01 XX SHAI R 2 2 = 90,000 0 90,000
OIs2AMY X 90,000
HHSYAH (X FD)(IIEHIIE) 99,690 93,999 5,601
2 57,290
= 42,400
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oA =XEHD
Y HE2AZH (SN D) (IIEH/IIE)
Sl QIR HY (A2 0B SHSLEN) (29 @
= — d L5
SN FH-S(BH) - MRAY - B Ol &k o8 e 2
ola2gdil(dz230lIs2gsEsAH) 99,690 93,999 5,691
= 57,290
= 42,400
o Z0ACMN 2L (2) 99,690 93,999 5,691
= 57,290
& 42,400
101 eIl 99,690 93,999 5,691
= 57,290
& 42,400
0B BRE(RIAHL)2ZENE = 99,690 93,999 5,691
oAz 2elA 1Al 99,690
= 57,290
= 42,400
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